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515 o 525

520 Munsell System Y,=100
M,..C=2,V=1,2,5,68&9, Mex
mirgstohe chromaticity diagram (x, y)

X,,=96,79,Y,,=100,00Z,=111,46 B*
xw=0,3140y,,=0,3243 p
A* o=(89=30 80, y+30 A) Y15(Y/Y19) /3
B 0=(bg=bo,7+Do .y +bp, ) Y16(Y/Y19) /3
ag = ag [X/Y] i
bg = byo [/

=1, byp=-04

n = Mex -10
80,v=ay(Y/Y1g-1)
Bo,v=boy(Y/Y1g-1)
apy=0,021,b,,=0,024
ag A=-0,031,by 4=-0,029

r10

A*

Munsell System Y,,=100, Mex Xw=96,79,Y,,=100,00,7,,=111,46 B0
0,8 M,,C=2,V=1,2,5, 8&09, Mex Xw=0,3140y,,=0,3243 +10

c ('.—D" wn ;1 migstohe chromaticity diagram (x, y) Av(i:(ao‘ao.n‘*l’vao.\(*ao.A) Y
o3 : Bo=(b-Do,nDo v +b0,0) Y
> g = agg [X/y] 3
2.2 bo = bao [213
(@) 3 a0=1, byp=-0,4 /-\ A,
Q) =. , , )
- n = wex NN/ 10
5 = Q628 ag,y=ay(Y/Y1g-1) D
= —h %95¢,E bo.y=bay(Y/Y1g-1) il
) = ay=0,021,b,y=0,024
30 a9 A=-0,031,09 4=-0,029
=y CIE 1931 X Munsell System Y,,=100, Mex
—_ q T C=2,V=1,2,5,8&9, Mex T-10

M 6@ 0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bg)

S = BEGGO-1A_6 BE66O-2A_6

=== X,=96,79,Y,,=100,00Z,~111,46 B, Xu=96,79Y,,=100,00Z,~11146 B,

_g Q 3140y,,=0,3243 10 Xw=0,3140y,,=0,3243 10

SO Ar=(ag=ay rtay ytag a) Y Ax=(8-3p rtag y+ag a) Y

=® By=(by=by ntby y+by A) Y Bo=(by=b n#by y+ba ) Y

- = ay =ag[(x-0,17Dh] 8y = a0 [(x-0,179y] +

Q- by =byo[2/4] ;=50 [(MpyX+hp)/y]

oCc 80=1, byp=-04 /7 ay=1, byy=-0,4

D & mr;=1,000,b0,=0,171 \ @ / R Mp1=-0,169,bp;=0,389 A
= n = Mex -10 ' ' 10 n = Mex -10 10
— g ay y=agy(Y/Y1g-1) L/ 9 ay y=apy(Y/Y1g-1) €x

g 5 by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)

Y& apy=0,021,b,,=0,024 T apy=0,021,b,y=0,024 T
(_-E o a; A=—0,031,b; x=-0,029
—_— Q Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
=1 o C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
= m chromaticity diagram (a4, b;) chromaticity diagram (ay, by)

o o BE660-3A_6 BE660-4A_6

® o)) X,=96,79Y,,=100,00Z,~11146 B, Xu=96,79Y,,=100,00Z,~11146 B,

Cw %w=0,3140y,,=0,3243 10 Xw=0,3140y,=0,3243 10
As=(ag-agntagytaga) Y Ag=(ag~agntag ytagn) Y

= g B3=(by=D3 1+ y+b3.0) Y B4=(D4=b4,1+0s y+04 0) Y

Eole)) 2y = 20 [(x-0,179/y] 2 = 820 [(-0,179/y]

=T bg=bso [(Mp1x+0pa)/y] b=bao [(Mpyx+bp)/y]

ol = 20=1, byo=-0,4 A a0=1, byp= -0, A
B — Mp1=-0,974 b, =0,658 3 mp1=—0,169,by 4
S < n = Mex ~10 10 n = Mex
= 3, y=agy(Y/Y15-1) ay,y=agy(Y/Y1g-1)
~ b3 v=boy(Y/Y1-1) by y=boy(Y/Y1g-1)

o apy=0,021,b,y=0,024 ayy=0,021,b,y=0,024
'CD a3 4==0,031,b3 ,=-0,029 ay A=-0,031,b; o=—0,029
o Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
D C=2,Vv=1,2,5,8&9, Mex C=2,V=1,2,5,8&9, Mex
chromaticity diagram (ag, chromaticity diagram (a,, by
B hromaticity di b hromaticity di b
g BEGGO-5A_6 BE6GO-6A 6
l X,=96,79,Y,,=100,00Z,~111,46 B, Xu=96,79Y,,=100,00Z,~11146 B,
Q‘ X=0,3140y,=0,3243 10 *w=0,3140y,,=0,3243 0
L o Ag=(a5~ag n+as y*as a) Y Ag=(3g=ag n+a6 y*ag a) Y
Bg=(bs—bs ytbs y+0s5 ) Y Bg=(b=bg,n+bg,y+0,4) Y
= a5 = 230 [(-0,179)] a6 = 250 [X] 1
@ be=b,0 [(Mp1x+bp )/l bg=byo [(Mp1x+bp1)/yl
=. ay=1, byy=-0,4 A ay0= 1, byg= -0,4 A,
~ mp1=-0,974,bp,=0,658 5 mp;=—0,974,b,=0,658
n = Mex -10 10 n = Mex -10 10
ag y=ay(Y/Y1g-1) ag,y=ay(Y/Y1g-1)
b5 v=boy(Y/Y1-1) bg, y=bay(Y/Y1g-1)
apy=0,021,byy=0,024 ayy=0,021,b,y=0,024 T
a5 x=-0,031,b5 x=-0,029 ag A=~0,031,0g 4=-0,029
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex =il C=2,V=1,2,5,8&9, Mex T-10
chromaticity diagram (as, bs) chromaticity diagram (ag, bg)

CIE 1931 X Munsell System Yy,=100
i C=2,Vv=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BEG6L-1A 6 BEG6L-2A_6
Xy=96,79.Y,=100,00Z,=111,46 B* Xu=96.79,Y,~100,002,~111.46 B*,
*y=0,3140y,,=0,3243 X=0,3140y,=0,3243 £10
A*1=(ag=ay ntay y*ay p)Y1g(Y/Y1g) ig A*5=(ag=ap rtap y+ap a) Y1g(Y/ Yla)ig
* 701Dy y#by v +01 A)Y16(Y/Y1g) B*5=(by=by i+ y+02 A)Y15(Y/Y19)
ay = ag [(x—0,17D/y] ay = ay [(x—0,17D/y] 1
by = by [2/4] b=z [(Mp1x+bpy)/y]
=1, byp=-04 A* 80=1, by=-04 A*
mr;=1,000by;=0,171 : : N Mp;=-0,169,0p,=0,389 @ E
n = Mex -10 10 n = Mex -10 10
ay y=agy(Y/Y1g-1) ke 3 y=agy(Y/Y1g-1) hEx
by v=boy(Y/Y1g-1) 1 by v=boy(Y/Y1g-1) 1
apy=0,021,b,y=0,024 apy=0,021,b,,=0,024
ay 4=—0,031,b; A=-0,029 ay A==0,031,b, x=-0,029
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, Mex T-10 C=2,Vv=1,2,5,8&9, Mex T-10
chroma (A*,, B*;) chroma (A*,, B*))
BEG61-3A_6 BEGO1-4A_6
Xy=96,79.Y,=100,00Z,~111,46 B* Xu=96.79,Y,~100,002,~111.46 B~
*y=0,3140y,,=0,3243 X0 X=0,3140y,=0,3243 £
A*3=(ag=ag ntag y*ag o) Y1g(Y/Y; m)ig A* 4=(ag=ay rtay,y+ag p) Yig(Y/ Yla)ig
B*3=(b3=bg i+ y+b3 A)Y14(Y/Y19) B* 4=(bg=by ity y+Ds A)Y15(Y/Y19)
a3 = a0 [(x-0,179/y] 4 ay = a [(x-0,179/y] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a0=1,byp=-04 * 80=1, byp=-04 *
Mpy=-0974bp,=0658 Y/ /E 7)) : > Mp1=-0,160,b5,=0,389 A%
n = Mex -10 10 n = Mex -10 10
ag y=agy(Y/Y1g-1) (@ LiCX 2y y=agy(Y/Y1g-1) hex
b3 v=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
apy=0,021,b,y=0,024 T apy=0,021,b,y=0,024 T
ag A=-0,031 b3 4=-0,029 a A=-0,031 b 4=-0,029
=2, V=1,2,9, , Mex = =2, V=1, 2,5, , Mex =
chroma (A*3, B*3) chroma (A*y, B*,)
BEG61-5A_6 BEG6L-6A_6
Xy=96,79.Y,=100,00Z,=111,46 B* Xu=96.79,Y,~100,002,~111,46 B~
*=0,3140y,,=0,3243 20 X=0,3140y,=0,3243 £10
A*5=(a5=a5 ntas y*as ) Y1g(Y/ Yla)i/g A 6:(36_36,n+36.Y+aG,A)YlB(Y/Ylﬂ)1g
B*5=(b5—bs,+D5 v +bs, o) Y16(Y/Y14) B*6=(Dg~bg,rtD6,v+Dg,A) Y16(Y/Y18)
a5 = a0 [(x-0,172/y] 4 85 = ago [X/y] A
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 * ay=1, byp=-0,4 *
n‘ID1=—0,974,bn1=0,6|58 ' /7 :7) ' é 3 mp;=—0,974,bp,=0,658 A 4
n = Mex (@/ 10 n = Mex 10

-10
a5 y=apy(Y/Y1g-1)
b5 y=boy(Y/Y1g-1)
apy=0,021,b,y=0,024
ag x=-0,031 bg A=-0,029
Munsell System Y,,=100

-10
a6 v=ay(Y/Y1g-1)
bg,v=boy(Y/Y1g-1)
ayy=0,021,b,y=0,024
ag A=-0,031 bg A=-0,029
Munsell System Y,,=100

BE660-7A_6

7o
9}

BE660-7N

BE660-8A_6

C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*s, B*g) chroma (A*g, B*¢)
BE661-7A_6 BEG61-TN BEG61-8A_6

TUB-test chart BE66; CIEX, y), chromatic valuesX, B;) and chromaA*;, B*;)

Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Y)ex=(0,3140, 0,3244)
C M Y [0] L WY
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